

We would like to find a criterion involving characteristic numbers which would enable us to determine if two sequences belong to the same family or not. We conclude with conjectures in this direction:

Conjecture 1:  $D_S = D_T \Rightarrow S \leftrightarrow T$

Conjecture 2:  $S \leftrightarrow T \Leftrightarrow D_S D_T$  is an  $\mathcal{L}$ -factor times a rational square. It would also be desirable to have an algorithm to produce the derivation given the  $\mathcal{L}$ -factor.

Conjecture 3:  $p$  is a Brousseau number  $\Rightarrow$  each of the powers of  $p$  corresponds to a distinct family of sequences.

#### REFERENCES

1. Brother U. Alfred [Brousseau]. "On the Ordering of Fibonacci Sequences." *The Fibonacci Quarterly* 1, No. 5 (1963):43-46.
2. Brother U. Alfred [Brousseau]. "On Square Lucas Numbers." *The Fibonacci Quarterly* 2 (1964):11-13.
3. Brother Alfred Brousseau. "A Note on the Number of Fibonacci Sequences." *The Fibonacci Quarterly* 10 (1972):657-658.
4. Brother Alfred Brousseau. *Fibonacci and Related Number Theoretic Tables*. The Fibonacci Association 1972.
5. Don Crowe. Personal communication, December, 1974.
6. Leonard Eugene Dickson. *History of the Theory of Numbers*. Vol. I: *Divisibility and Primality*. Chelsea, 1952.
7. Verner E. Hoggatt, Jr. *Fibonacci and Lucas Numbers*. Houghton-Mifflin, 1969.
8. A. F. Horadam. "A Generalized Fibonacci Sequence." *American Math. Monthly* 68 (1961):455-459.
9. Eugene Levine. "Fibonacci Sequences with Identical Characteristic Values." *The Fibonacci Quarterly* 6, No. 5 (1968):75-80.
10. Édouard Lucas. *The Theory of Simply Periodic Numerical Functions*. The Fibonacci Association, 1969.
11. Christopher Moeller. "Secondary Fibonacci Sequences." Paracollege Senior Project, St. Olaf College, 1975.
12. A. Tagiuri. *Periodico di Matematiche* 16 (1901):1-12.
13. E. Zeckendorf. "Les facteurs premiers des nombres de Fibonacci et des nombres de Lucas." *Bulletin de la Société Royale des Sciences de Liège* 41 (1972):252-253.

\*\*\*\*\*

### AN ESTIMATE FOR THE LENGTH OF A FINITE JACOBI ALGORITHM

F. SCHWEIGER

*Institute for Mathematics  
University of Salzburg, Salzburg, Austria*

There are many papers concerning the length of the continued fraction expansion of a rational number (see, e.g., M. Mendès-France [2]). Following a method given by J. D. Dixon [1] in an elementary way, an estimate can be given for the length of the Jacobi algorithm of a rational point.

The Jacobi algorithm may be described in the following way: Let

$$B = \{x = (x_1, \dots, x_n) \mid 0 \leq x_j < 1, 1 \leq j \leq n\}.$$

If  $x = (0, \dots, 0)$ , then  $Tx = x$ . If  $x_1 = \dots = x_t = 0, x_{t+1} > 0$  for  $0 \leq t < n$ , then,

$$T(0, \dots, 0, x_{t+1}, \dots, x_n) = (0, \dots, 0, x_{t+2}/x_{t+1} - [x_{t+2}/x_{t+1}], \dots, 1/x_{t+1} - [1/x_{t+1}]).$$

We define  $x^{(g)} = T^g x$ . We say that the algorithm of  $x$  has length  $L(x) = G$  if

$$G = \min\{g \geq 0 \mid x^{(g)} = (0, \dots, 0)\}.$$

Let  $x^{(s)} = (0, \dots, 0, x_{t+1}^{(s)}, \dots, x_n^{(s)})$ , then we define

$$k_0^{(s+1)} = \dots = k_{t-1}^{(s+1)} = 0$$

$$k_t^{(s+1)} = 1 \text{ (if } t = 0, \text{ then } k_0^{(s+1)} = 1)$$

$$k_{t+1}^{(s+1)} = [x_{t+2}^{(s)}/x_{t+1}^{(s)}], \dots, k_n^{(s+1)} = [1/x_{t+1}^{(s)}]$$

$$A_i^{(j)} = \delta_{ij} \text{ for } 0 \leq i, j \leq n$$

$$A_i^{(n+1)} = 0 \text{ for } 1 \leq i \leq n, A_0^{(n+1)} = 1$$

$$A_i^{(s+n+1)} = \sum_{j=0}^n A_i^{(s+j)} k_j^{(s)}, 0 \leq i \leq n.$$

Then, an easy induction shows

$$x_i = \frac{A_i^{(s+n+1)} + \sum_{j=1}^n A_i^{(s+j)} x_j^{(s)}}{A_0^{(s+n+1)} + \sum_{j=1}^n A_0^{(s+j)} x_j^{(s)}}$$

for  $1 \leq i \leq n$ .

We want to prove the following

**Theorem:** Let  $x = (a_1/b, \dots, a_n/b) \in B$  be a rational point. Then

- (1) Let  $\theta > 1$  and  $\theta^n + 1 = \theta^{n+1}$ , then  $L(x) \leq (\log \theta)^{-1} \log b$ .
- (2) Let  $0 < \sigma < 1$ . Then there is an  $\eta = \eta(\sigma) > 0$  with the following property: Denote by  $N(z)$  the number of rational points  $x$  satisfying  $b \leq z$  such that  $L(x) \leq \eta \log b$ , then  $N(z) = O(z^{n+\sigma})$ .

**Remark:** Since the order of magnitude of the number of rational points satisfying  $b \leq z$  is  $z^{n+1}$ , the result (2) states that in some sense almost all rational points satisfy  $L(x) > \eta \log b$ .

We first need a lemma, well known for the Jacobi algorithm without "Störungen" (that means  $x_1^{(g)} \neq 0$  for all  $g$ ; see O. Perron [3]).

**Lemma:** For  $a \geq 0$ ,

$$(A_1^{(a+n)}, A_2^{(a+n)}, \dots, A_n^{(a+n)}, A_0^{(a+n)}) = 1.$$

**Proof:** This is clear for  $a = 0$ . Therefore, we put  $a = g + 1 \geq 1$ . Suppose that  $k_{i-1}^{(g)} = \dots = k_0^{(g)} = 0$ ,  $k_i^{(g)} = 1$  and  $k_{s-1}^{(g-1)} = \dots = k_0^{(g-1)} = 0$ ,  $k_s^{(g-1)} = 1$ , where  $0 \leq s \leq t$ . Then the following relations hold ( $0 \leq i \leq n$ ):

$$\begin{aligned} A_i^{(g+n+1)} &= A_i^{(g+n)} k_n^{(g)} + \dots + A_i^{(g+t+1)} k_{t+1}^{(g)} + A_i^{(g+t)} \\ A_i^{(g+n)} &= A_i^{(g-1+n)} k_n^{(g-1)} + \dots + A_i^{(g+s)} k_{s+1}^{(g-1)} + A_i^{(g+s-1)}. \end{aligned}$$

We introduce the matrices:

$$\begin{aligned} M_g &\text{ with rows } (A_1^{(g+j)}, \dots, A_n^{(g+j)}, A_0^{(g+j)}), s \leq j \leq n; \\ M_{g+1} &\text{ with rows } (A_1^{(g+1+h)}, \dots, A_n^{(g+1+h)}, A_0^{(g+1+h)}), t \leq h \leq n; \\ M_{g+1}^* &\text{ with rows } (A_1^{(g+h)}, \dots, A_n^{(g+h)}, A_0^{(g+h)}), t \leq h \leq n. \end{aligned}$$

Then  $M_g$  has rank  $n + 1 - s$ , and  $M_{g+1}$  and  $M_{g+1}^*$  both have rank  $n + 1 - t$ .

Let  $d = (A_1^{(g+n+1)}, \dots, A_n^{(g+n+1)}, A_0^{(g+n+1)})$  denote the greatest common divisor. Then  $d$  divides all  $(n + 1 - t) \times (n + 1 - t)$  determinants of  $M_{g+1}$  and therefore of  $M_{g+1}^*$  as well.

Now the Laplacian expansion for determinants shows that  $d$  is a divisor of all  $(n + 1 - s) \times (n + 1 - s)$  determinants of the matrix  $M_g$ . Repeating the argument, we finally see that  $d$  divides determinants of  $M_0$ , but  $|\det M_0| = 1$ .

**Proof of the Theorem:** If  $L(x) = G$ , then  $a_i/b = A_i^{(G+n+1)}/A_0^{(G+n+1)}$  for  $1 \leq i \leq n$ . Therefore  $b = d_G A_0^{(G+n+1)}$ . From this, we first obtain

$$b \geq A_0^{(G+n+1)} \geq \theta^G$$

and

$$\log b \geq G \log \theta.$$

The number of rational points satisfying  $b \leq z$  is smaller than or equal to the number of allowed algorithms (see O. Perron [3] or F. Schweiger [4]) such that  $d_G A_0^{(G+n+1)} \leq z$ .

Since  $A_0^{(G+n+1)} \geq k_n^{(G)} \dots k_1^{(G)}$  and given  $k_n^{(G)}$  there are at most

$$(k_n^{(G)} + 1)^{n-1} \leq 2^{n-1} (k_n^{(G)})^{n-1}$$

possible values for the digits  $k_j^{(G)}$ ,  $1 \leq j \leq n - 1$ , we have the estimate (we write  $q_j$  instead of  $k_n^{(j)}$ ):

$$N(z) \leq \sum_{G \leq \eta \log z} \left( \sum_{q_1 \dots q_G d_G \leq z} (2^{n-1})^G (q_1 \dots q_G)^{n-1} \left( \frac{z}{q_1 \dots q_G d_G} \right)^s \right)$$

where  $s > n$  will be chosen. This shows

$$\begin{aligned} N(z) &= O \left( z^s \sum_{G \leq \eta \log z} 2^{(n-1)G} \sum_{q_1=1}^{\infty} \dots \sum_{q_G=1}^{\infty} \sum_{d_G=1}^{\infty} (q_1 \dots q_G d_G)^{n-1-s} \right) \\ &= O \left( z^s \sum_{G \leq \eta \log z} (2^{n-1} \zeta(s+1-n))^{G+1} \right) = O \left( z^s (2^{n-1} \zeta(s+1-n))^{\eta \log z} \right). \end{aligned}$$

We put  $s = n + \varepsilon$  and obtain  $N(z) = O(z^\sigma)$  where

$$\sigma = n + \varepsilon + \eta(\log \zeta(1 + \varepsilon) + (n-1)\log 2).$$

Choosing  $\varepsilon > 0$  and  $\eta = \eta(\varepsilon)$ , we may obtain

$$\varepsilon + \eta[\log \zeta(1 + \varepsilon) + (n-1)\log 2] \leq \sigma.$$

#### REFERENCES

1. J. D. Dixon. "A Simple Estimate for the Number of Steps in the Euclidean Algorithm." *American Math. Monthly* 78 (1971):374-376.
2. M. Mendès-France. "Sur les fractions continues limitées." *Acta Arith.* 23 (1973):207-215.
3. O. Perron. "Grundlagen für eine Theorie des Jacobischen Kettenbruchalgorithmus." *Math. Ann.* 64 (1907):1-76.
4. F. Schweiger. "The Metrical Theory of Jacobi-Perron Algorithm." *Lecture Notes in Mathematics* 334. Berlin-Heidelberg-New York: Springer, 1973.

\*\*\*\*\*

### SOLUTION OF THE RECURRENT EQUATION $u_{n+1} = 2u_n - u_{n-1} + u_{n-3}$

JACQUES TROUÉ

Collège Bois-de-Boulogne, Montréal, Canada

To find the general term of the sequence  $\{u_n\}$ , we introduce an auxiliary sequence  $\{v_n\}$ , intertwined with  $\{u_n\}$  in the following way:

$$\begin{array}{ccccccc} u_1 & \rightarrow & u_2 & \rightarrow & u_3 & \dots & u_{n-1} & \rightarrow & u_n & \rightarrow & u_{n+1} & \dots \\ & \searrow & & \swarrow & & & & \searrow & & \swarrow & & \\ v_1 & & v_2 & & v_3 & \dots & v_{n-1} & & v_n & & v_{n+1} & \dots \end{array}$$

where

$$(1) \quad \begin{cases} u_{n+1} = v_{n-1} + u_n, \\ v_{n+1} = u_{n-1} + v_n. \end{cases}$$

It is clear that both sequences are determined as soon as  $u_1, v_1 (= u_3 - u_2)$ , and  $u_2, v_2 (= u_4 - u_3)$  are given.  $\{u_n\}$  solves our problem since

$$u_{n+1} = v_{n-1} + u_n = u_{n-3} + v_{n-2} + u_n = u_{n-3} + (u_n - u_{n-1}) + u_n.$$

1. Adding the equations in (1) memberwise, we obtain:

$$u_{n+1} + v_{n+1} = (u_{n-1} + v_{n-1}) + (u_n + v_n),$$

which implies that  $\{u_n + v_n\}$  is a Fibonacci sequence  $\{F_n\}$  whose first two terms are

$$u_1 + v_1 (= u_1 - u_2 + u_3) \quad \text{and} \quad u_2 + v_2 (= u_2 - u_3 + u_4).$$

2. Our problem would be completely solved if we would have an expression for  $u_n - v_n = \varepsilon_n$ . Subtracting the equations in (1) memberwise, we obtain:

$$\begin{aligned} \varepsilon_{n+1} &= \varepsilon_n - \varepsilon_{n-1}, \\ &= (\varepsilon_{n-1} - \varepsilon_{n-2}) - \varepsilon_{n-1} \quad (\text{replacing } n \text{ by } n-1 \text{ above}), \\ &= -\varepsilon_{n-2}, \\ &= -(-\varepsilon_{n-5}) \quad (\text{replacing } n \text{ by } n-3 \text{ above}), \\ &= \varepsilon_{n-5}. \end{aligned}$$